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B2 670 bb 4> =8 ST
G A fedip:
48 x % =192 39 % % =117
84 % =33.6 21 %=10.5
25 % = 20 96 x %= 57.6
58 x % =135.8 55 % % =135.5
50 % = 20 7 x %=3.5
70 % =21 100 % % = 10
58 % =348 80 x %= 56
92 % =368 75 % = 45
67 x % =268 71 x %=17.1

9 x % =54 10 x %=9
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B2 6o bh 4> 2

gfaerd @l

“MH:

48 x 40% = 19.2

84 x 40% = 33.6

25 x80% = 20

58 x 10% = 5.8

50 x 40% = 20

70 x 30% = 21

58 x 60% = 34.8

92 x40% = 36.8

67 x40% = 26.8

9x60% = 5.4

39 x30% = 11.7

21 x50% = 10.5

96 < 60% = 57.6

55 x10% =35.5

7x50% = 3.5

100 x 10% = 10

80 x 70% = 56

75 x 60% = 45

71 x 10% = 7.1

10 x90% =9
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